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Time : Three hours Maximum : 100 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.
All questions carry equal marks.
1.  What is meant by System Software?
System Qe LimmeT eremmmed cremmen?
2. What are the components of system software.
System Gwer@umpefler LmsmigeT wreneu?
3. Give the purpose of the assembler.
assembler @)er CprEs5MmE (.
4.  What is meant by Macro?
Macro erermmed creve?
5. Give any two examples for compiler.
gGaeanib @rew(h compiler o gryarThISMaT 6T(LHS)IS.
6.  Define grammar.
@ LEFHETLD GTETMTED 6T 660 ?
7.  What is meant by Loader?
Loader eresmmmeb erevmen?
8.  Give any two uses of Linkage Editor.

Linkage Editor@)eir @)reim(h LILETSmaT 6T (LS.



10.

11.

12.

Define Interpreter.

Interpreter — cuenywim.

Why Bug arises?

Bug eréim 2 meum@dlmg) ?

(a)

(b)

(a)

(b)

PART B — (5 X 7 = 35 marks)
Answer ALL questions.
All questions carry equal marks.
Discuss on :
(1) Language Translator
(i1)) Time sharing operating system.
eleurdlas :
(1)  Gwm wrHmed
(i) Gpyums@ operating system.
Or
How to execute high level language?
o wimblened Qom ereueumm Cswu B S g ?
Give the pass structure of an assembler.
Assembler gienL_wi pass s.nenm (mHs.
Or
Mention the usage of Macros.

Macros @)etr LG Iq Gneu 6T(LYSI5%.
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13.

14.

15.

(a)

(b)

()

(b)

()

(b)

Write the functions performed by the
analysis phase.

Analysis phasegyenLw QEweoLim i anewt
T(PSIS.
Or

Draw the syntax tree for the sentence “The
Peacock is a beautiful bird”.

“The Peacock is a beautiful bird” erep
unsSlwgdler gapm rSSHamen euanys.
Explain the concept of  Program
Relocatability.
Program Relocatability upnl eSlers@s.

Or
Describe the functions of Linkage Editor.
Linkage Editor @en Qeweum igener bl
efleul.

Discuss the tools for Program testing.

Program Caiey&ams LweaTURSSULHLD
smedlaamarys LpMl 6T(Lps)s.
Or

Explain the tools for Debug monitors.

6 M| &M 6T H(mSFHlusHSTSHL LwetU (hb
smaedlganarls Limbl 6T(ps)s.
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16.

17.

18.

19.

20.

PART C — (3 X 15 = 45 marks)
Answer any THREE questions.
All questions carry equal marks.

Describe the model of a computer system with a
diagram.

UL LD cuenphgl sewtlasiuder wrdlifl gemenanws efleal.

Explain the technique of designing a two pass
assembler.

@mun@eurer assemblersy o (heursES HemenoamIL]
Ul ellers@s.

What is meant by code optimisation?
Code optimisation g L er(pgis.
Explain the following schemes :

(a) Link-and-go-scheme

(b) Link-Load-and-go-scheme.
Epsarcupenn cllaTdHEs :

(1) Link-and-go-scheme

(<) Link-Load-and-go-scheme.

Mention the importance of Software Tools.
QuenCummEpsstar  smelsaiar  P&HlwsgieugamsL
LUl eT(pGIs.
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